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int x=12;
printf("x++ = %d , --x= %d", x , x++);

int x=5, y=6, z=8;
x+=(y>z)? x++ 1 X--;
printf("%d , %d , %d",x, vy, z);

......................... (_s“,j)", (_s“,j)",
int x=3,y=12,z; int a=4, b=10; float c=7.6;
2=y X+ a=(a>=b)&&(b<=c) + (b | c) + (c % 2.5);
printf("sum=%d", x+y+z); printf("%d",a);
......................... (_s“,j)", (_s“,j)",
(s Olygiws cos) Clommz 315 ool y axlad (29,5 ¥
int x=12, y=20, z=6; int a=15, b=16, c=80;
if (x++<y-8) printf("T - %d",x); if ((a<++b) || (--c>a)) printf("%d",a + b + c);
else printf("F - %d",y);printf("A"); else printf("%d",a * b * ¢);
......................... (_s“,j)", (_s“,j)",
int s=3, f=1; int c=4, d=6;
float h=0; float r;
switch(s+f++) r=c/d;
{ switch (r>0)
case5:h=s/f; {
cased:s=s++; case 0 :r++;
case 7: break; casel:r--;
default:h=1/s; }
} printf ("%f", r);
printf("%f",h );
......................... (_s“,j)", (_s“,j)",
(adl> o) T 9 51 dol p axkad ‘5.75)5_\"
int m=2,u=8; int m=2,u=8;
for (int i=1;i<=u;i++) for (int i=1;i<=u;i++)
m++ ; u--;
printf("m= %d , u=%d", m, u); printf("m= %d , u=%d", m, u);
......................... (_s“,j)", (_s“,j)",

int a=10;

while (a-- < 15)

{
printf("a-- %d",--a);
continue;
a--;

}

int a=9, b=8,x=5;
while (a<b)
{
for (i=1;i<5;i++)
X++;

7’

}
printf("%d",x);

) axbo




(lasgol Jloo b assl 5l oS 5) Sz 15 slo by axlad o9 ,5 —F

int s=0;
for (i=1;i<=5;i++)
for(j=1;j<=l;j++)

int s=0;
for (i=1;i<=5;i++)
for(j=5;j>=i;j++)

St {
printf("%d",s); if (j>i) break;
St++;
}
printf("%d",s);
......................... (f,j)", (f,j)",
int a=6, b = -6; inta=6,b=-1;
if (a+b++) printf("TRUE"); else printf("False”); if (a=b++) printf("TRUE"); else printf("False”);
printf("%d",a+b); printf("%d",a+b);
......................... (f?j)", "'"""""‘"""""“;?j)’,
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